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BB & (kg/10a)"

X % HI6EE BEE Eihibpk

&'E

R = =Z8h B & 2 hlL

miE(ha) (kg/10a) 2125 2115 RF|FHEMETITS  (46%)  (38%)  (20%)

B 53

N P205 Kzo MgO

B & 20 26 52 20 40
* —&EN & 10 4.1 39 10 20
£ = ZENE 15 30 15 30
i ih =FNE 5 10 10 25 10
5 a &t 39.70 50 6.7 10 131 7.0 100
i’ B & 20 40 20 20 10
o B pE? 45 90 45 45 23
& & 8.81 65 130 65 65 33
AN e o 105.3 40 1.6 80 40 40 20
1) R6-5IZHITH-IEREZEIIINE3tLL . FEMIZIE 2) B RIXEI~5EIZHHET D,
UTITRT @AY, INEA 1B T EICE b /212
S&25kgtELET B, T, BIZDOWTIEIMEZE 3) dtiunktkitERE B
ESEJOE 3 P By 58128 R % 70%(20kg A Y)

R E Hh e AR B 52 (kg/ 10a)

INE(10ay7=l) N P,05 K20
3t 13.1 7.0 10.0
4t 18.1 95 15.0
5t 23.1 12.0 20.0

6t 28.1 14.5 250

9F1H E#{b2118 300%2(20kg AY:
OH3H E#{L2118 300%2(20kg AY:



